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Answers

1. organizer

2. burger

3. candy cane

4. book

5. candy cane

6. strawberry

Use the price table to solve each problem.

1) The table below shows the prices of
several items at a toy store.

Item Price
board game $1.35

toy car $2.90
figurine $1.85

organizer $2.05
coloring book $2.80

Bianca had $5.00 when she went to
the store. If she bought 1 coloring
book what is the most expensive
item she can buy with the money she
has left?
$5.00 - $2.80 = $2.20

2) The table below shows the prices of
several items at the baseball game.

Item Price
burger $2.40

corndog $3.90
hotdog $1.50
soda $1.55

small fry $3.30
Jerry had $5.00 when he went to the
game. If he bought 1 burger what is
the most expensive item he can buy
with the money he has left?
$5.00 - $2.40 = $2.60

3) The table below shows the prices of
several items at the santa store.

Item Price
music box $2.80

bow $2.50
card $3.90

ornament $3.35
candy cane $1.05

Robin had $5.00 when she went to
the store. If she bought 1 music box
what is the most expensive item she
can buy with the money she has left?
$5.00 - $2.80 = $2.20

4) The table below shows the prices of
several items at a book fair.

Item Price
bookmark $1.75
book light $1.95

cover protector $1.20
book $2.80
poster $2.45

Paige had $5.00 when she went to
the book fair. If she bought 1 cover
protector what is the most expensive
item she can buy with the money she
has left?
$5.00 - $1.20 = $3.80

5) The table below shows the prices of
several items at the candy shop.

Item Price
sugar cube $1.70

lollipop $2.60
gummy worm $3.90

candy cane $3.65
chocolate bar $1.10

John had $5.00 when he went to the
shop. If he bought 1 chocolate bar
what is the most expensive item he
can buy with the money he has left?
$5.00 - $1.10 = $3.90

6) The table below shows the prices of
several items at a fruit stand.

Item Price
cherry $2.50

watermelon $1.50
apple $1.15

strawberry $3.10
orange $3.05

Vanessa had $5.00 when she went to
the stand. If she bought 1 apple what
is the most expensive item she can
buy with the money she has left?
$5.00 - $1.15 = $3.85
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